x° +x% + 16 is exactly divisible by x, where x is | 4-
a positive integer. The number of all such
possible values of x is
(@ 3 {MQAW L
Y-
(b) | o,
ok b
© 5 225\ ‘
SN ZRS\
% X
) 61v7)(\\o ~D r)/o()(
T {)\ - 5.
Y XN o > .
NS =
)L)’( ot W’"w"’ /LL
L
2. The number o? (a, b, ¢), where a, b, c are
positive integers such that abc = 30, is
VPP a4 {" D
' L\E0, R
@ 30 t@)\:?;é& '
(b) 27 Sr(")\ &L
Snd T
© 9 3, 1,30
@ 8 -
3. If the roots of the quadratic equation
x2 — 4x — log,, N = 0 are real, then what is the
minimum value of N ?
— lo o™
(a) 1 ! % 8 ,
1 *93”‘\\ k
® - =" s
10 N=
o L b+ 1t
¢ 100
(ﬂ/ -1
10000
(3-A)

3

DZOL-T-LKM ;

The number of different solutions of the
equation x + y + z = 12, where each of x, y and

z is a positive integer, is

(a) 53 , 4
(b) 54 2 é@/ 20
¢ 55 S"_a""/r'x
@ 56 2,5 6
u" Lya+ 3k
ey

If I =2a2+b%2+c2 where a and b are

consecutive integers and c = ab, then I is

(a) an even number and it is not a square of
an integer
(b) an odd number and it is not a square of
an integer
. e L
(¢) square of an even integer a? ‘\,\DL.* C

(d liare of an odd integer CiL A 0\43\} ‘)\—7,0‘\7

g oG
oo

. 3 2 3 4
If the number @Pfjg&’llﬁ@? is divisible by the
2

2 28
smallest odd composite number, then what is

the value of P ? 6\” C I+ 24+ blL)
ea‘ﬂ % 9

() 5

() 6 ul Al

@ 7

What is the remainder when the sum

16 4+ 95 4+ 35 + 45 + 5% is divided by 4 ?

(a) ”

L

b 1 \'\"@3'2— QL
\_‘

4L 4 3xo L)
-

—

\,\



8. What is the digit in the unit place of 39 ? 11. If 172020 is divided by 18, then what is the

ay |
@ 1 “ ‘& 32 remainder ? ‘q}' a0
10730
3. @1 Rl QD)
b) 3 '
«/ ) 2
' (c) 16 -—)3/1”'
v b
@ 9 ‘3
; a 17
= &4
N L
\ A
9. LCM of two numbers is 28 times their HCF. 12. What is the value of
The sum of the HCF and the LCM is 1740. If 1 1 1
one of these numbers is 240, then what is the 1++2 * J2 +43 * J3 + JZ \/_ JIO
other number ? A
LesA =28 X @ 1
- - ¥ /3—
e -2 ¥ -k -y
(&) 420 ABRAX= ® 5
() 820 \74 X =60 @ 10
D

Sxp % y =PI

(d) 1040

13. Ifx™= 14,fx \[x Jx , then what is the value of

m?

10. (x™ - a")is divisible by (x — a), where x # a, for

. , , y —
* every ' ’ (a) g ‘ ‘2) X [X .,x
‘ | 2y
( natural number n | (15/% LRES S

Y \
(b)  even natural number n only , Y m""l‘i?}
© 2 WM
& 4
(¢) odd natural number n only
7
‘ @ -
(d) prime number n only 4

DZOL-T-LKM (5-A)



14.

DZOL-T-LKM

16.

The sum of all possible products taken two at
a time out of the numbers + 1, + 2 + 3, + 4, + 5

18

Pe ) A4 1AL WANS

@70 ) g BRI 4SS

b -30 9 VY ‘«)3 \/("2)
gou s

() -955 <§

d 55 yéjﬁ/

Y‘b%ﬁb

A train of length 110 m is moving at a uniform
speed of 132 km/hr. The time required to cross
a bridge of length 165 m is

.
(a) 65 seconds 1Em +\!°S
35 ek
(b) 7 seconds 12% )(__’L’___ )9/)/
e TR virges
( 7-5 seconds
—

[y

\Rf1z e

(d) 85 seconds

The simple interest on a certain sum is

one-fourth of the sum. If the number of years

rate of annual interest are

and the

numerically equal, then the number of

years is
(
a) 25 .
9

(b) 3

’é v PR dé)(_"
(¢) 35 P

\ vém

17.

A)

@5

W3

18.

A 60-page book has n lines per page. If the
number of lines were reduced by 3 in each
page, the number of pages would have to be
increased by 10 to give the same writing

space. What is the value of n ?

YO
(a) 18 6(9
f\ s
o, 4
@/21 5
XY
(c) 24 éO _
WGﬂQCﬁégz R
@ 30 Eb@/"\ _9\O ’o
\ y\;ﬂ

If x men working x hours per day can do
x units of work in x days, then y men working
y hours per day in y days would be able to do

k units of work. What is the value of k ?

SacAr X

A et
M@ )4
»('1 .
b) x3y2
(c) y2x—3



19. Let d(n) denote the number of positive divi

of a positive integer n. Which of the following

Ale =AM
5«&”}‘;,\\/\

are correct ?

-

L~ dB) =dd1)

9. . d®).d(11) = d(55) Y
- 3

3. dd) + d(11) = d(16)
2, AN

Select the correct answer using the code given

VAl

below :

(a) 1land3only
(md 2 only
(¢) 2and3only

(d 1,2and3
Ay =2

20. If A =P_ + 1, where P is the product of the

2% D

% M\ &

first n prime numbers, then consider the

0. B

following statements :
1. A, is always a composite number.x
2. A +2is always an odd number. @" y
Q

3. A, +1lisalways aneven number.

Which of the above statements is/are correct ?

(a) 1only
\Mly

(¢) 3only

AN

‘@% and 3 only

DZOL-T-LKM

(9-A)

21.

22.

23.

A shopkeeper sells his articles at their cost
price but uses a faulty balance which reads
1000 gm for 800 gm. What is the actual profit
percentage ?
CP = RoG™
(a) 20%
—ﬂ)/ 3P =2
) 25% }gm >\2
© 30% gooely by
= .
) 40% |pooR > &°
~Zo
A river 3 m deep and 40 m wide is flowing at

the rate of 2 km/hr and falls into the sea.
What is the amount of water in litres that will

fall into the sea from this river in a minute ?

(@) 40,00,000 litres  (——o
ks

(b)  4,00,000 litres

(c) 40,000 litres < NZT-) 9

@/4:000 litres 2 ©o° X 120

gelooed.
A

If a television set is sold at ¥ x, a loss of 28%
would be incurred. If it is sold at ¥ y, a profit
of 12% would be incurred. What is the ratio of

ytox? X = OgocP
(a) 41:9 }5 < 2 cCP
(b) 31:9 Pt oN L
(e 23:9 LI o 2



24.

25.

By increasing the speed of his car by 15 km/hr
a person covers a distance of 300 km by taking
an hour less than before, What was the

original speed of the car ?

RO
(a) 45 km/hr Xax\§
(b) 50 km/hr
_ la A<
\(ey~60 km/hr
d 75kmhr S0
Qoo 4
Three persons start a business with
. ' .1 1 1
capitals in the. ratio 3 : 1 : B The first

person withdraws half his capital after

4 months. What is his share of profit if the

business fetches an annual profit of T 96,800 ?

(a) ¥ 32,000
(b) T 34,500
(¢) ¥ 36,000
d) < 36,800

(11-A)

DZOL-T-LKM

» | 26.

27.

If x varies as y, then which of the following

is/are correct ?
1. x2 + y? varies as x2 - y2 .@: 9
/

X .
%/ — varies inversely as y

3. “\/xzy varies as zn\lx4y2

Select the correct answer using the code given

below : N—= ﬂ\d.

(a) 1and2only D('L,\ [f\ e
(b>/ and 3 only 7(7’~M"a”’”
(¢c) 3only \ v\/\‘\’(

\KL\" '_3
(d 1,2and3
4 A f/\%
\A/‘qc/

Ena was born 4 years after her parents
marriage. Her mother is 3 years younger than
her father and 24 yéars older than Ena, who is

13 years old. At what age did Ena’s father get
O

married ? =X
pmotin = X3 27T

(a) 25 years Era. DW=V
(b) 24 years 3= NG 24

' e .
(M years 1S =%

=10

(d) 22years



M=6 S
A= g'g Q-5 B~
98. Mahesh is 60 ye n. .
2 anhesh in years old. Ram is 5 years @ What is the HCF of the polynomials
younger to Mahesh and 4 ye: .
. years elder to Raju. x6-3x*+3x2-1 and x3 +3xZ+3x+1?
Babu is a younger brother of Raju and he is Y B
- Y- Ry 2
6 years younger. What ig the age difference (a) (x+1) "\'g/
between Mahesh and Baby ?
(b) (x+1)?
(n) 18 years o +Qxb?y\\+y1,]
2
/ (C) X + 1
(J)/ 15 years
3
(¢c) 13 years @ &+
(d) 11 years
32. The HCF and the LCM of two polynomials are
29. The number of items in a booklet is N. In the 3% + 1 and 303 + 7x2 — ]0x — 3 res ‘.el\ If
first year there is an increase of x% in this I Txt —2ex = —23x
one polynomial is 6x% + ®+ 1, then what is
number and in the subsequent year there is a \
the oth 1 ial ?
decrease of x%. At the end of the two years, | GRS e 5 \{&\q @,\ >
O
what will be the number of items in the (@ 15x%+4x+3 FT%L A\
booklet ? » g A LW
s | 9oc 2P () 15x% +4x-3
Less than N |28 " ‘2} '\;5
o bx \
(h) EqualtoN () 15x2-4x+3 ‘\ng 5 *\\g{\\
sl A O
(¢) More than N ~15%% — 4x - 3 3\3 «}b( tB 3\?&
Is- \g x"‘» PN TR
(d) It depends on the value of N \'I,X
o= =2 - 1 d
30. If ab+xy-xb=0 and be + yz — ¢y = 0, then |33 If (p+2)(2q-1=2pq-10 an
what is i+§ equal to ? s (p-2) (2q—1)=2pq—1\0§;1k§fwhat is
a
2 \@ pq equal to ? f"’;
, ¥ -
@) & X (3 b> {5-\'—32
o B (@) -10 _\'\ be
b x( b~ } P2e go TSN
b 2 d
y \) (b) -5 <
A= ' -8
© 1 " b carl Spqy UG - -Y *’\\VN
@0 _ﬁ-—r-@ d 10 9 \D
— " - -
ngb (13-A) fP-b \‘Q/ c‘l ? .
DZOL-T-LKM | (il QF‘V eq,= \O
Jr=ely vV



. What is the value of )
3 ° ’ 38. X, Y and Z travel from the same place with

a2 +ac a2 — 2 ) p
—_— __ 2 3 uniform speeds 4 km/hr, 5 km/hr and 6 km/hr
22c_c® aZe+2ac? + o3 2 2+a+c' A
¢ respectively. Y starts 2 hours after' X. How
@ 0 ‘ %+ i -\ long after Y must Z start in order that they
b 1 1-3 Aty 4+ overtake X at the same instant "\'{ 3 X
N f% L
ac — __,—/*
/(c) 2, o2 _&0 \ ’\" (a) -g- hours | 2
- | Q_ W\ N /aows. |
G2 4 &
‘/(&/ W ’@ (b) % hours 3o M0
—W I | 'Y
D s ‘
35. What is the square root of 4x* + 8x3 —4x + 1? (¢) - hours % ) \,S/
(a) 2x2-2x-1 .

@X = h
b) 92x2-x-1 Q‘f)‘*\%/ /(s OV

e 2x2+2x+1
389. 1-x-x®+x2"! where nis a natural number.

d 2x%+2x-1
is divisible by

36. The sum of the digits of a two digit number is (@ (1+%? L N\\ =4 N

13 and the difference between the number and /fﬁ)/(l —x)?2 ‘ ) " 51 \

. . . . - - Q
that formed by reversing the digits is 27. What . _ b )
tha y i © 1-2x-x2 ‘_QQC} xR
is the product of the digits of the number ? - _‘_,05

@ 1ezm-z2 - j-0O(— 2 (i

(a) ‘oy\_‘,a ';'f;'
51 40 = 3
7( Cxyy =X ‘

(c) 45 40. A person sold an article for ¥ 75 which cost

(d) 54 '09 ,:/Ti%g‘i\z him ¥ x. He finds that he realised x% preofit on
o, ¢ X __V then which one of the ~ his outlay. What is x equal to ?

b+c c+a b-2a )
(a) 20% , D:

following is correct ? X ,\76 =13 V =X

(a) x+y+z=0 - :@3 (b)  25% ;

(b) z=0 X £5 44————‘5”‘}()(‘06:)(

X-y-#% =16 (c) ~50%

(© x+y-z=0 Qxxz@' S .

d x+2y+3z=0 fd) 100% ,'.].S"ao
DZOL-T-LKM . - L Toduiach -0 =3<

] o X 6 ‘9,_5/___&,/ QP =X 5P



41.

42,

43.

M<x<1

;y/ x(t-y) ty!

LA -k
oo

A car did a journey in t hours. Had the |44-

average speed been x kmph greater, the

journey would have taken y hours less. How

&= @k
d-; Zx\l

A=y
A= 3b -—'Z\d+\>‘>(
M

long was the journey ?

(a) (t—y)ty

e x({t-y) ty =2

d x{t+y)ty

When a ball is allowed to fall, the time it takes
to fall any distance varies as the square root of

the distance and it takes 4. seconds to

fall 78 40 m. How long would it take to fall

12250m? {3 e Q"(,bxc‘b"‘d/
rk

(a) ¢ 5 seconds

(b 5-5 seconds

6 seconds

J5
(d) 65 seconds (6 :g\rD_ Vo —|

150 =
If 63— 4x 4x+5 = 8 (Given logjp2 = 0-301 and

log;o3 = 0-477), then which one of the

following is correct ?

8950

\I_T'-K w
gi'b "2 P—?\

b)) 1<x<2

(¢ 2<x<3

d 8<x<4

(17-A)

DZOL-T-LKM

__b.__"—*‘z”':); " —:_.
=R e

45.

)A‘ﬁ d« Z\d—&bv\%(\'

23 -~ 46.

i = W IV

M-:‘K% 47.

e

(y\\’\ \ = W,

v—'ﬁv'"_

The Euclidean algorithm is used to_calc
the m= Kt 1-*\4

(a) square root of an integer 2 1’%,@‘\%(};‘%%

(b) cube root of an integer

7\; K‘#

2o vo 02K
Iyt A+ RO

(¢) square of an integer

(d)~"HCF of two integers
b5
If radius of a sphere is rational, \tﬂen which of

=2
T %
W T

2. Its volume is rational. E

the following is/are correct ?

1. Its surface area is rational.

Select the correct answer using the code given

below : '
T 8
- S1976,

sSnoe

Yl 13
Sin
‘gmej (u’ﬂ"

If cosec 6 — sin 6 = m and sec 6 — cos 6 = n,
4 2 2 4
then what is m3n3 + m3n3 equal to ?

(a) 1lonly

(b) 2only

(¢c) Both1and2
(d) either 1 nor 2

(a O —HX WMo
g " w8
(VS

2-U4XN X RA® 2
(c) mn Q . g 2 = 2

——
19— 2X)  B-ux

If cos O + sec O = k, then what is the value of

(d) m2n?

sin20 — tan20 ? \'E'Dﬁﬁg
(a) 4-k % =L w&gmls
( 4 - k2 Bf\“ _ D’—"“gx‘ “gu'g
() k2-4 X = :5_
@ sz ST XAFLRO +

12 ~2e = 3

5'1
g
248 s



48. ABC is a triangle inscribed in a semicircle of | 51, The difference between two angles is 15° and

diameter AB. What is cos (A + B i
) + sin (A + B) the sum of the angles in radian is % The

equal to ?
(a) O bigger angle is k times the smaller angle.
What is k equal to ? }(f"
1
b O N
: @ =
3
(c) 1 ‘ >4+6 =S A
2 X ‘6 - /\L .
d), 1 e
(c) 4
49. Consider the following statements : 7 /
@ < & :“*
. 1 6 Nu + 8 =
1. sin 8 = x + — is possible for some real
value of x. * )k 52. Consider the following statements : = w
¥l
. B 1 . - g 1. The equation 2 sin2 @ —cos 6 + 4 =0 1s "Y/
A cos 0 =x + < is possible for some rea possible for all 6. /6
value of x. \L
2. tan© + cot 6 cannot be less than 2, where
Which of the above statements is/are correct ? s \}\
0<6< —. 3 ’\'
| 2 = Alyr,

nl
(a) 1lonly &‘ C "_/ M@) (LQQ =" Whlch of the above statements is/are correct * /é 5
(b) 2only X S a lonly XX

2O —
(c) Both1land2 Q’”)’U@ &a,bﬂ\ﬂly

(d) either 1 nor 2 9_’@‘“ ’\’ “/[,-’/O (¢) Both1land?2

* LU S
IN AN ¢ N VR = ](Zl) Nelth,er 1 nor 2
. : 1N Yo% —e\S
50. What is the magnitude (in radian) of the
interior angle of a regular pentagon ?

(|t

v/
53. A road curve is to be laid out on a circle. What

. }%d, radius should be used if the track is to change
) 5 \eso &'), direction by 42° in distance of44 m?
\ !
b) 2n 6@;}5’" . (Assume n = ——)?V WX /'4'7(\86 % \&
5 .
_ @_:)/> ) 8D m S
T
5 )(\%19 ~ €40 (b) 66m
47 3 » (¢) 75m &—
(d) -y ._ Y /H/ » .
< | SM (@ 80m e = gyg 6!
DzoL-T- ' 19-A : _
OL-T-LKM K¢ = 8~ A) N B0




54. What is the maximum A ) ‘
valueof 3sin0—-4 ? |58. If cosec O — sin 6 = p® and sec 6 — cos 0 = q°,

(a) -4 then what is the value of tan 0 ?
}t»/— 1 p :
0 :L'*L-H,(L‘\/q) @ 1a) =h
(c) g % Vo 6%
@ 1 \ X b(}'\ (b) 4 o e = P°
. () Paq é\' 2
55. If sin O + cos 6 = /JZ then what is Lime = q/
- @ Tuee
sin” 6 + ¢os” 0 + 6 sin® 6 cos2 § equal to ? Qnre q3
1 N W m@- iar=ru
@ S e e ey o) e P2
o ~-N\59. If0<a,B< 99°8&2h that cos (o — B) = 1, then
3 Q W\ \,@oU T L .
) " P no ')/ what is sin o —sin B + cos o — cos B equal to ?

S _
(c) 6\0"9 .* o © (‘b/ (&) ‘“32- Q\" %
7 ORI W e 14

—
J

@ 2
What is the least value of 9 sinZ 0 + 16 cos2 6 ?

(@) O

- .
@/9 \ % 60. Consider the following statements :

(©) 16 )Y;D \( 1. The value of cos61°+sin 29° cannot
\ - (5

d) 25 exceed 1. / Qé\ﬂ\’)—q

2. The value of tan 23° —cot 67° is less
. 1f cos 47° + sin 47° = k, then what is the value than 0. = "f?ﬂw\')fﬁ €0) = U//

of cos® 47° — sip'2 47° ?

, . ¢ Which of the'apove statements is/are correct ?
- Y bsmﬁ"‘—" /
() k2 -k o Ute X

- LY (a) 1lomly - <
axb - ¢

(b) + —ky2- K2 (b) 2 only

(c) km > (¢) Both 1 and 2 .
X GINUY |
i (LW

\P(B
DZOL-T. _ \‘(\ (21-A)
L-T-LKM CU@D\«} S

() q

\

(d) Neither 1 nor 2




a1,

D)

D —— L R s 8 B B §F N WO

In a quadrilateral ABCD, /B

\B? + BC* 2 - o ond
AB® + BC* + CD2? _ 2
D . AD? = 0, then what is
2 ACD equal to ? N »
A X
@ 300 DTS AP
M 60° ™
) 90° ‘D
8 ‘\C
@ 120° \
N B
AR BT "
P\_ Q‘—-\— QD'L', P<D =0
In a AABC, AC = 12 cm, AB = 16 cm and AD
is the bisector of £ A. If BD = 4 cm, then what
is DC equal to ? o
N
@. 2cm
b N
y/ 3 cm
() 4cm b Y- D
d bScm b\ -

/‘

5

Ve

64.

65.

ABC is an equilateral triangle. The side BC is
trisected at D such that BC = 3 BD. What is

t:?ioofAthoABz?
( 7:9

(b) 1:3 .
(0 5:7 6 ’7‘3 H/éM c
@ 1:2 ;'/l"lg .

%/’\/ ’//u
2o

Consider the following statements :

1. /éle diagonals of a trapezium divide each
other proportionally.

2.  Any line drawn parallel to the parallel

sides of a trapezium divides the

non-parallel sides proportionally.

Which of the above statements is/are correct ?
(a) : \
(b) 2 only

WhlandZ

1 only

9

83. ABCD is a cyclic quadrilateral. The bisectors (d) Neither 1 nor 2
of the angles A, B, C and D cut the circle
d S respectively. What is
B G  E g2 66. If H, C and V are respectively the height,
P alto!
2 PR+ 2B el curved surface area and volume of a cone, then
(a) 90° what is 371:VH3 + 9V2 equal to ?
2
1y A0 2
i—; AM —_— (a) C2H2 <
® 15 - AP 9 P 1 7R3N 3>+ 4 Lxgn
M/ AB 7 -q" (b) 2 C?H2 Yol
180° 9. "
© 5CH2 Y ,ng"—‘_\‘\ L8 @ 3R W
n
0 0
DZOL-T-LKM —gr'
ApAE bR DABY -



67.

68.

69.

70.

DZOL-T-LKM

Ve = 18 wane
S =o M
How many solid lead balls each of diameter

2 mm can be made from a solid lead ball of
radius 8 cm ? -

(a) 512 LAk (
a

- &1
(b) 1024 v\v\%% GM) 27\
(c) 256000

‘

(Wooo

The two sides of a triangle are 40 cm and
41 cm. If the perimeter of the triangle is|72.
90 c¢m, what is its area ?
(a) 90 cm? 2
(b) 35 cm? D Q\»g) CBD ,g
(¢) 150 cm? S y,('ig
(d) 180 cm? b rL

Ko
The diagonals of a rhombus differ by 2 units

and its perimeter exceeds the sum of the
diagonals by 6 units. What is the area of the
rhombus ?

(a)
(b)
(c)
(d)

48 square units

36 square units

A@;Ha:'

DA Do

24 square units

12 square units

What is the area of a right-angled triangle, if
the radJus of the circumcircle is 5 cm and

aye drawn to the hypotenuse is 4 cm ?
20-(:m2 4

18 cm? B:j
gem” A=k
16 cm? (l-b \"\'()"’_M ‘

(b)
(c)

(d) 10 cm?

2

()
(25-A)

71.

73.

74.

In a triangle, values of all the angles are
integers (in degree measure). Which one of the
following cannot be the proportion of their
measggs—?\ v

(360

(d)y 6:7:8 M

The length of a rectangle is increased by 10%
and breadth is decreased by 10%. Then the
area of the new rectangle is

(a)

neither increased nor decreased

w\o’ﬂl'@i

(b) increased by 1%

(Ue@sed by 1%

(d) decreased by 10%

The surface areas of two spheres are in the
ratio 1 : 4. What is the ratio of their volumes ?

@ 1:16 N Fat |
e Y

® 1:12 >

(¢ 1:10 '_ — __\_

@ 178 \“'V 2

The length, breadth and height of a brick are
20cm, 15cm and 10 cm respectively. The
number of bricks required to construct a wall
with dimensions 45 m length, 0-15 m breadth
and 3 m height is

(a) 12450

(b) 11250

() 6750

(d) None of the above



!
:
Ez.
-
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75. If the sum of all interior angles of a regular|78. 1In a triangle ABC, if2 /A =3 /B =6 2C
polygon 1s twice the sum of all its exterior then what is £ A + £ C equal to ?
angles, then the polygon is .
%0 (a) 90° :
O\ |
t@// Hexagon @ . %}OO ' L b= %?). %\5
' 20° 4R =
- ( 120
(b)  Octagon \(4‘ :_Q.fgf-
7 A\ () 1356° 1)
(¢) Nonagon N 8 " \_Cg/O_
. qq/é )  150° W\ -
(d) Decagon @ ) @[A'\Lad—lc\('k”)
a2 X 2 0
@' g 2, bO 3
5@
79. If the perimeter of a circle and a square are
76. A bicydle wWheel makes 5000 xevolutions in equal, then what is the ratio of the area of the
moving 11 km. What is the radius of the sirels to thet of the square ? LK& o
wheel ? (Assume Tt = 3 ) P
| (@ 1:m
) 175 /zl AXT =ha
@ o (b) 2:m A
(b)\/am W b ?—'__7' XQX\F?*@Pﬁ(C) 3:n A
(¢c) T70cm - . ,Kp
\ | .
O — o
(d) 140 cm 9_:,_ LY "Y‘/
=T X
'/’_ m - -
O R N 2 80. The lengths of the sides of a right-angled
. . i ta en integers (in cm).
77.  The volumes of two cones are in the ratio 1: 4 triangle are consecutive even Intege ’
. : . t is the product of these integers
and their diameters are 1n the ratio 4 : 5. What is the p
What is the ratio of their heights ? Aa')/
60 Qx u X <
\
(a : 64 )
BB 1M ; ) 120
R S
b) 16:25 ~Ny X N
— \ .Y 360
v X (c) _
, v =
) 9:16 .@\ ?'7\‘@ “5\
s d) 480 N = A
@ 5:9 g \xH=E =3
DZOL-T-LkM X}, 2



g1. A circle is inscribed in a triangle ABC. It
touches the sides AB and AC at M and N
respectively. If O is the centre of the circle and
/ A =170° then what is £ MOIR,equal to ?
(a) 90°
(b) 100°
(c),110°
d 120°
82. The sum of the squares of sides of a
right-angled triangle is 8,450 square units.
What is the length of its hypotenuse ?
(a) 50 units QU&%’ > -
(b) 55 units
(¢) 60 units
Wm
83. A triangle and a pérallelogram have equal
areas and equal bases. If the altitude of the
triangle is k times the altitude of the
parallelogram, then what is the value of k ?
(a) 4
M D
e 1 ,L % bx 1"
1 >
@ =
2 \DV\ Q,\f\.:
DZOL-T-LKM

84.

86.

Areas of two squares are in the ratio m? n?,

What is the ratio of their perimeters ?

(a) m:n m ' Y\'LJ
(b) n:m
@ m:n?
d m?:n

AD is the median of the triangle ABC, If P is

any point on AD, then which one of the

following is correct ?

(a) Area of triangle PAB is greater than the

area of triangle PAC

_@/ Area of triangle PAB is equal to area of

triangle PAC

(¢) Area of triangle PAB is one-fourth of the
area of triangle PAC

(d) Area of triangle PAB is half of the area

of triangle PAC

What is the area of a segment of a circle of

radius r subtending an angle 6 at the centre ?

1
(b) —;—rz (e—zsmg cosg)

—

(c) r-2-r2 (G—Sing cosg)

(d)

0
%rzsing cos 5 |



87.

88.

DZOL-T-LKM

ABC is a triangle right-angled at C. Let P be -
any point on AC and Q be any point on BC.
Which of the following statements is/are
correct ?
1. AQ2 + BP2 = A_B2 + PQ2
2. AB=2PQ
Select the correct answer using the code given
below :
(a) 1lonly
(b) 2 only
(¢) Both1and?2
(d) Neither 1 nor 2 90.
Four circular coins of equal radius are placed
with their centres coinciding with four vertices
of a square. Each coin touches two other coins.
If the uncovered area of the square is 42 cm?,
then what is the radius of each coin ?
22
(Assume 7= —~ )
(a) 5Scm
(b) T7cm
(¢ 10cm
d 14cm
(31-A)

The radii of the flat circular faces of a bucket
are x and 2x. If the height of the bucket is 3x,

what is the capacity of the bucket ?

(Assume 1 = = )

7
(@ 1153
(b) 22x3
(c) 44x3
d 55x3

If p, q, T, s and t represent length, breadth,

height, surface area and volume of a cuboid

1 + 1 equal

|
respectively, then what is — +
p q T

to ?

(a)

|

by —

(& =

& =



91. appeared in an|94. When the class intervals have equal width,
examination. The marks of the c:‘indidates who the height of a rectangle in a histogram
/pas/seci in t}ie examination are 9, 6;7/, é, é, é, represents
6, 5, 4 and *. What is the median of marks of
all the fifteen candidates ? (a) ~ Width of the class

(b) Lower class limit
(a) 6 ..HY@%%%%C\&‘ -
® 65 ° 7 v (¢) Upper class limit
© 17 (% requency of the class
d 75
95. The ages of 7 family members are 2, 5, 12, 18,
38, 40 and 60 years respectively. After 5 years

92. If the yield (in gm) of barley from 7 plots of a new member aged x years is added. If the
size one square yard each, were found to be mean age of the family now goes up by
180, 191, 175, 111, 154, 141 and 176, then 1'5 years, then what is the value of x ?
what is the median yield ? W
(a) 111gm .&H,“‘\} \5‘4,"';57""1’\%9‘:: )

(b) 154gm o Ao
() . 3 b /
(cL—T175 gm Ub
@ 4 / Yy
(d) 176 gm R ) T
96. The mean weight of 100 students in a class is

93. Which one of the following measures of central 46 kg. The mean weight of boys is 50 kg and
tendency will be used to determine the that of girls is 40 kg. The number of boys
average size of the shoe sold in the shop ? exceeds the number of girls by

oo
(a) Arithmetic mean (a) 10 Wb il
&f\s’ < L‘ 9
(b) Geometric mean (b) 15 P vtg
M & o e 60 - )
(¢) Median / /t“
o B
(d) Mode ( 5 " $
DZOL-T-LKM (33-A)

Fifteen candidates

° :



" What is the algebraic sum
of the deviations

98.

{from the mean of a set
of v
63.76,17,15,7, 147 alues 25, 65, 73, 75,

@ -1
® O
e 1
@ 2

The mean of five observations X, x + 2, X + &
x+6, X+ 8/4s m. What is the mean of the first

three observations ?

| Qx r B
(a)
) 2l
20

99.

100.

(b) m-1 gX )(,\‘L'
_ ST
(MZ V M
d m-3 AT 9
X"/‘ﬂ\( /?/
W ALY wm
é&M*i>

e ¢!

What is the median of 2, 4, 6, ..., 100 ?

(a) 48
) “
oo e
o
(c 0 1% ‘m
d 51

The harmonic mean and the geometric mean

of two numbers are 10 and 12 respectively.

What is their arithmetic mean ?

| _eM”
@ 2 AMX T
‘TO —;@’\(‘\‘1
® 120
© 11

Mu



